
Alpha-‐beta	  search	  example	  
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Recall:	  
– alpha:	  value	  of	  best	  move	  for	  us	  seen	  so	  far	  in	  
current	  search	  path	  

– beta:	  best	  move	  for	  opponent	  (worst	  move	  for	  us)	  
seen	  so	  far	  in	  current	  search	  path	  

If	  alpha	  >=	  beta,	  prune	  

IniGal	  alpha:	  −∞	  

IniGal	  beta:	  ∞	  



α=	  −∞	  
β=∞	  
α<β,	  so	  conGnue	  

α=	  −∞	  
β=∞	  

α=	  −∞	  
β=∞	  

α=	  −∞	  
β=∞	  

α=	  −∞	  
β=∞	  

α=	  −∞	  
β=∞	  

α=	  −∞	  
β=∞	  

α=	  −∞	  
β=∞	  
α<β,	  so	  conGnue	  

α=	  −∞	  
β=∞	  
α<β,	  so	  conGnue	  

α=	  −∞	  
β=∞	  
α<β,	  so	  conGnue	  



α=	  −∞	  
β=∞	  

α=	  −∞	  
β=∞	  

α=	  −∞	  
β=∞	  

α=	  −∞	  
β=∞	  

α=	  −∞	  
β=∞	  

α=	  −∞	  
β=∞	  

α=	  −∞	  
β=∞	  

α=	  −∞	  
β=3	  
α<β,	  so	  conGnue	  

α=	  −∞	  
β=∞	  

α=	  −∞	  
β=∞	  

α=	  −∞	  
β=∞	  

α=	  −∞	  
β=3	  
α<β,	  so	  conGnue	  

α=	  −∞	  
β=∞	  

α=	  −∞	  
β=∞	  

α=	  −∞	  
β=∞	  

α=	  −∞	  
β=3	  
α<β,	  so	  conGnue	  3	  



α=	  3	  
β=∞	  

α=	  −∞	  
β=∞	  

α=	  −∞	  
β=∞	  

α=	  3	  
β=∞	  
α<β,	  so	  conGnue	  

α=	  −∞	  
β=3	  

3	  

α=	  −∞	  
β=∞	  

α=	  −∞	  
β=∞	  

α=	  −∞	  
β=3	  

3	  
α=	  3	  
β=∞	  
α<β,	  so	  conGnue	  

α=	  3	  
β=∞	  

α=	  −∞	  
β=∞	  

α=	  −∞	  
β=∞	  

α=	  −∞	  
β=3	  

3	  
α=	  3	  
β=∞	  

α=	  3	  
β=∞	  

α=	  −∞	  
β=∞	  

α=	  −∞	  
β=∞	  

α=	  −∞	  
β=3	  

3	  
α=	  3	  
β=2	  
α≥β,	  so	  prune	  



α=	  3	  
β=2	  

2	  

α=	  3	  
β=∞	  

α=	  −∞	  
β=∞	  

α=	  −∞	  
β=3	  

3	  
α=	  3	  
β=2	  

α=	  −∞	  
β=∞	  

2	  

3	  

α=	  3	  
β=∞	  

α=	  −∞	  
β=∞	  

α=	  −∞	  
β=3	  

3	  
α=	  3	  
β=2	  

α=	  −∞	  
β=∞	  

2	  

3	  

α=	  3	  
β=∞	  

α=	  −∞	  
β=∞	  

α=	  −∞	  
β=3	  

3	  
α=	  3	  
β=2	  

α=	  −∞	  
β=3	  
α<β,	  so	  conGnue	  

α=	  3	  
β=∞	  

α=	  −∞	  
β=∞	  

α=	  −∞	  
β=3	  

3	  

α=	  −∞	  
β=∞	  



2	  

3	  

α=	  3	  
β=∞	  

α=	  −∞	  
β=3	  

α=	  −∞	  
β=∞	  

α=	  −∞	  
β=3	  

3	  
α=	  3	  
β=2	  

α=	  −∞	  
β=3	  

α=	  −∞	  
β=3	  
α<β,	  so	  conGnue	  

2	  

3	  

α=	  3	  
β=∞	  

α=	  −∞	  
β=3	  

α=	  −∞	  
β=3	  

3	  
α=	  3	  
β=2	  

α=	  −∞	  
β=3	  

α=	  −∞	  
β=3	  

2	  

3	  

α=	  3	  
β=∞	  

α=	  −∞	  
β=∞	  

α=	  −∞	  
β=3	  

3	  
α=	  3	  
β=2	  

α=	  −∞	  
β=3	  

α=	  −∞	  
β=3	  
α<β,	  so	  conGnue	  

2	  

3	  

α=	  3	  
β=∞	  

α=	  −∞	  
β=3	  

α=	  −∞	  
β=3	  

3	  
α=	  3	  
β=2	  

α=	  −∞	  
β=3	  

α=	  −∞	  
β=3	  

15	  



15	  

α=	  15	  
β=3	  

2	  

3	  

α=	  3	  
β=∞	  

α=	  −∞	  
β=3	  

α=	  −∞	  
β=3	  

3	  
α=	  3	  
β=2	  

α=	  15	  
β=3	  
α≥β,	  so	  prune	  

α=	  −∞	  
β=3	  15	  

2	  

3	  

α=	  3	  
β=∞	  

α=	  −∞	  
β=3	  

α=	  −∞	  
β=3	  

3	  
α=	  3	  
β=2	  

α=	  15	  
β=3	  
α≥β,	  so	  prune	  

α=	  −∞	  
β=3	  15	  

2	  

3	  

α=	  3	  
β=∞	  

α=	  −∞	  
β=3	  

α=	  −∞	  
β=3	  

3	  
α=	  3	  
β=2	  

α=	  15	  
β=3	  

α=	  −∞	  
β=3	  15	  

15	  

2	  

3	  

α=	  3	  
β=∞	  

α=	  −∞	  
β=3	  

α=	  −∞	  
β=3	  

3	  
α=	  3	  
β=2	  

α=	  −∞	  
β=3	  15	  

3	  



15	  

α=	  15	  
β=3	  

2	  

3	  

α=	  3	  
β=∞	  

α=	  −∞	  
β=3	  

α=	  −∞	  
β=3	  

3	  
α=	  3	  
β=2	  

α=	  −∞	  
β=3	  15	  

3	  

α=	  3	  
β=∞	  

α=	  3	  
β=∞	  
α<β,	  so	  conGnue	  

15	  

α=	  15	  
β=3	  

2	  

3	  

α=	  3	  
β=∞	  

α=	  −∞	  
β=3	  

α=	  −∞	  
β=3	  

3	  
α=	  3	  
β=2	  

α=	  −∞	  
β=3	  15	  

3	  

α=	  3	  
β=∞	  

α=	  3	  
β=∞	  

α=	  3	  
β=∞	  
α<β,	  so	  conGnue	  

15	  

α=	  15	  
β=3	  

2	  

3	  

α=	  3	  
β=∞	  

α=	  −∞	  
β=3	  

α=	  −∞	  
β=3	  

3	  
α=	  3	  
β=2	  

α=	  −∞	  
β=3	  15	  

3	  

α=	  3	  
β=∞	  

α=	  3	  
β=∞	  

α=	  3	  
β=∞	  

α=	  3	  
β=∞	  
α<β,	  so	  conGnue	  

15	  

α=	  15	  
β=3	  

2	  

3	  

α=	  3	  
β=∞	  

α=	  −∞	  
β=3	  

α=	  −∞	  
β=3	  

3	  
α=	  3	  
β=2	  

α=	  −∞	  
β=3	  15	  

3	  

α=	  3	  
β=∞	  

α=	  3	  
β=∞	  

α=	  3	  
β=∞	  

α=	  3	  
β=∞	  



2	  

α=	  3	  
β=2	  

15	  

α=	  15	  
β=3	  

2	  

3	  

α=	  3	  
β=∞	  

α=	  −∞	  
β=3	  

α=	  −∞	  
β=3	  

3	  
α=	  3	  
β=2	  

α=	  −∞	  
β=3	  15	  

3	  

α=	  3	  
β=∞	  

α=	  3	  
β=∞	  

α=	  3	  
β=∞	  

α=	  3	  
β=2	  
α≥β,	  so	  prune	  

15	  

α=	  15	  
β=3	  

2	  

3	  

α=	  3	  
β=∞	  

α=	  −∞	  
β=3	  

α=	  −∞	  
β=3	  

3	  
α=	  3	  
β=2	  

α=	  −∞	  
β=3	  15	  

3	  

α=	  3	  
β=∞	  

α=	  3	  
β=∞	  

α=	  3	  
β=∞	  

α=	  3	  
β=2	  

15	  

α=	  15	  
β=3	  

2	  

3	  

α=	  3	  
β=∞	  

α=	  −∞	  
β=3	  

α=	  −∞	  
β=3	  

3	  
α=	  3	  
β=2	  

α=	  −∞	  
β=3	  15	  

3	  

α=	  3	  
β=∞	  

α=	  3	  
β=∞	  

α=	  3	  
β=∞	  

2	  

α=	  3	  
β=2	  

15	  

α=	  15	  
β=3	  

2	  

3	  

α=	  3	  
β=∞	  

α=	  −∞	  
β=3	  

α=	  −∞	  
β=3	  

3	  
α=	  3	  
β=2	  

α=	  −∞	  
β=3	  15	  

3	  

α=	  3	  
β=∞	  

α=	  3	  
β=∞	  

α=	  3	  
β=∞	  

α=	  3	  
β=∞	  



α=	  3	  
β=2	   α=	  3	  

β=3	  
α≥β,	  so	  prune	  
(but	  nothing	  to	  
prune!)	  

2	  

α=	  3	  
β=2	  

15	  

α=	  15	  
β=3	  

2	  

3	  

α=	  3	  
β=∞	  

α=	  −∞	  
β=3	  

α=	  −∞	  
β=3	  

3	  
α=	  3	  
β=2	  

α=	  −∞	  
β=3	  15	  

3	  

α=	  3	  
β=∞	  

α=	  3	  
β=∞	  

α=	  3	  
β=∞	  

α=	  3	  
β=∞	   2	  

15	  

α=	  15	  
β=3	  

2	  

3	  

α=	  3	  
β=∞	  

α=	  −∞	  
β=3	  

α=	  −∞	  
β=3	  

3	  
α=	  3	  
β=2	  

α=	  −∞	  
β=3	  15	  

3	  

α=	  3	  
β=∞	  

α=	  3	  
β=∞	  

α=	  3	  
β=∞	  

2	  

15	  

α=	  15	  
β=3	  

2	  

3	  

α=	  3	  
β=∞	  

α=	  −∞	  
β=3	  

α=	  −∞	  
β=3	  

3	  
α=	  3	  
β=2	  

α=	  −∞	  
β=3	  15	  

3	  

α=	  3	  
β=∞	  

α=	  3	  
β=∞	  

α=	  3	  
β=∞	  

α=	  3	  
β=3	   3	   2	  

15	  

α=	  15	  
β=3	  

2	  

3	  

α=	  3	  
β=∞	  

α=	  −∞	  
β=3	  

α=	  −∞	  
β=3	  

3	  
α=	  3	  
β=2	  

α=	  −∞	  
β=3	  15	  

3	  

α=	  3	  
β=∞	  

α=	  3	  
β=∞	  

α=	  3	  
β=∞	  

α=	  3	  
β=3	   3	  

3	  



α=	  3	  
β=3	  

α=	  3	  
β=3	  

α=	  3	  
β=3	  
α≥β,	  so	  prune	  

2	  

15	  

α=	  15	  
β=3	  

2	  

3	  

α=	  3	  
β=∞	  

α=	  −∞	  
β=3	  

α=	  −∞	  
β=3	  

3	  
α=	  3	  
β=2	  

α=	  −∞	  
β=3	  15	  

3	  

α=	  3	  
β=∞	  

α=	  3	  
β=∞	  

α=	  3	  
β=3	   3	  

3	  

2	  

15	  

α=	  15	  
β=3	  

2	  

3	  

α=	  3	  
β=∞	  

α=	  −∞	  
β=3	  

α=	  −∞	  
β=3	  

3	  
α=	  3	  
β=2	  

α=	  −∞	  
β=3	  15	  

3	  

α=	  3	  
β=∞	  

α=	  3	  
β=∞	  

α=	  3	  
β=3	   3	  

3	  

2	  

15	  

α=	  15	  
β=3	  

2	  

3	  

α=	  3	  
β=∞	  

α=	  −∞	  
β=3	  

α=	  −∞	  
β=3	  

3	  
α=	  3	  
β=2	  

α=	  −∞	  
β=3	  15	  

3	  

α=	  3	  
β=∞	  

α=	  3	  
β=∞	  

α=	  3	  
β=3	   3	  

3	  

3	  

α=	  3	  
β=3	  

2	  

15	  

α=	  15	  
β=3	  

2	  

3	  

α=	  3	  
β=∞	  

α=	  −∞	  
β=3	  

α=	  −∞	  
β=3	  

3	  
α=	  3	  
β=2	  

α=	  −∞	  
β=3	  15	  

3	  

α=	  3	  
β=3	  

α=	  3	  
β=∞	  

α=	  3	  
β=3	   3	  

3	  

3	  


